PI = 3.14159265…

25/5 = 5

3 x (1/2) = 1.5

100,000 / 100,000 = 1

100-100 = 0

100,000 x 4 = 400,000
5/4 = 1.25

25% of 200 = 50

3 tenths of 200 = 60

¾ = 75%

15/5 = 3

1/3 = 33.33333…%

½ of the diameter = “radius”

3 x 15 = 45

½ x 1/2 = ¼

3+3-9 = -3

10/0 = “No Solution”

A triangle with three equal sides = Equilateral Triangle

23 = 8

(5+11)/4 = 4

10-30 = -20

-2 / -8 = 25%

625 / 25 = 25

4,000,000,000 / 8,000,000,000 = ½

1500 / 300 = 5

“Right angle” = 90 degrees

Number of Quarters in $10 = 40

# of vertices in a triangular prism = 6
Area of a football field = 5,000 square yards

Square root of 9 = 3

2 x 2 x 3 x 2 x 1 x 1 x 1 = 24
1/5 of 25 = 5 OR 500%
F is in what position in the alphabet = 6th
42 + 1 = 17
7 x 7 = 49

-6 – (-24) = 18

Complimentary angles = 90 degrees

Supplementary angles = 180 degrees

A hexagonal prism has 8 faces?

 A triangular pyramid has 1 base(s)

Formula for area of a circle?

Formula for area of a rectangle?

Formula for circumference of a circle?

Formula for perimeter of a rectangle?

